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The following abbreviations may appear in this examination paper

Die volgende afkortings mag in hierdie eksamenvraestel voorkom

M/P

ENGLISH

marginal propensity fo consume
consumption spending

demand for bonds

nominal exchange rate
expected nominal exchange rate
real exchange rate

government spending
investment spending

foreign interest rate

demand for money

supply of money

real money supply

trade balance

price level

pnce of bonds

supply of bands

nominal wage

real wage

exports

output and income level

foreign output and income level
natural level of output and income
total demand

demand for domestic goods

M/P

W/P

Y*
YN

AFRIKAANS

grensverbruiksgeneigdhed
verbruitksbesteding

vraag na effekte

nominale wisselkoers

verwagte nominale wisselkoers
reele wisselkoers
owerheldsbesteding
investeringsbesteding
buitetandse rentekoers

vraag na geld

aanbod van geld (geldvoorraad)
reele geldvoorraad
handelsbalans

pryspeil

prys van effekte

aanbod van effekte

nominale loon

reele loon

uitvoer

produksie- en inkomepeii
buttelandse produksie- en inkomepeill
natuurl ke produksiepell

totale vraag

vraag na binnelandse goedere
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Read all instructions CAREFULLY before answering the questions
This paper consists of two (2) sections” A and B.

Lees al die instruksies NOUKEURIG voor u die vrae beantwoord
Hierdie vraestel bestaan uit twee (2) afdelings. Aen B

SECTION A: COMPULSORY (50 marks)
AFDELING A VERPLIGTEND (50 punte)

INSTRUCTION ANSWER ALL THE QUESTIONS
INSTRUKSIE BEANTWOORD AL DIE VRAE

QUESTION 1/VRAAG 1 (20 marks/20 punte)
Question 1 1/Vraag 1.1 (2 marks/2 punte)

The multiplier effect in the economy results from the behaviour of households Briefly explan
why (2)

Die vermenigvuldigerseffek vioel voort uit die gedrag van huishoudings Verduidelik kortliks
hoekom (2)

Question 1 2/Vraag 1.2 (5 marks/5 punte)

Taxes are part of autonomous spending in the goods market model
Briefly explain why a decrease In taxes increases the demand for goods and shifts the
demand for goods curve upwards in the goods market, equal to c(T) and not T (5)

Belasting 1s deel van outonome besteding Iin die goederemarkmodel
Verduidelik kortiiks waarom 'n daling in die belasting die vraag na goedere verhoog en die
goederevraagkramme opwaarts verskulf met gelyk aan ¢(T) en nie T nie? (5)

{TURN OVER]
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Question 1.3/Vraag 1.3 (3 marks/3 punte)

Exptain briefly in words why the net effect of an equatl increase in government spending and
taxes (in other words, the balanced budget) will still have a stmulatary effect on the level of
output and income (3)

Verduidelik kortliks in woorde waarom die netto effek van 'n gelyke toename in owerheids-
besteding en belasting (met ander woorde, die begrotingsbalans) steeds 'n stimulerende
effek op die produksie- en inkomepeil sal uitoefen (3)

[TURN OVER]
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Question 1 4/Vraag 1 4 {4 marks/4 punte)

By using the two diagrams below show the difference between a decrease In investment
spending and a decrease in the marginal propensity to consume on the equilibrium output
and income leve! i the gocds market model {4)

Maak gebruik van die twee onderstaande diagramme om die verskil aan te toon tussen 'n
afname In investeningsbesteding en 'n afname in die grensverbruiksgeneigdheild op die

ewewigsproduksie- en inkomepell In die goederemarkmodel {4}
ﬁ L w«g& “fua&qgw@?@@@@i e A ! a awth‘:
) e, o)
? ,,;% "‘fg" $%;;§w:§§£vz;;§é@ m%g} “;«%%me%@@%g_ggm z%ﬁ&ggggﬁ :§§ Béiié%' cojrgx_;_su %&ea&y %géﬁ:éi %gzﬁ;m R ,ﬁgﬁgzﬁﬁ
’f%:%‘éf“* Uhlos s gwg‘;w,ﬁwﬁ% %gz‘:%mhﬁm%ww%@ gt L e
sMname niinvesteringsbested S o “"“”ﬁAfnameﬂmdleigrensverb i jene igdheid? %ﬁ oy
0 o

Question 1 5/Vraag 1.5 (6 marks/6 punte)

(a) What institution 1ssues treasury bills? (1
{a) Watter instansie reik skatkiswissels ut? (N
[TURN OVER]
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(b) Use the following diagram to illustrate on the diagram and bnefly expiain in words why
a decrease in the level of output and Income causes a decrease In the equilibrium
interest rate {5)

(b) Gebruik die onderstaande diagram om op die diagram te illustreer en kortliks in woorde
te verduidelk waarom 'n afname in die produksie- en inkomepell 'n daling n die
ewewIigsrentekoers tot gevolg het 5

Explanation/Verduideitking

[TURN OVER]
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QUESTION 2/VRAAG 2 (6 marks/6 punte)

Use an I5-LM model to illustrate on the diagrams below and to compare the impact of a
contractionary fiscal policy with that of an expansionary monetary policy (B)

Maak gebruk van 'n [S-LM-model om die impak van 'n beperkende fiskale beleid op die
onderstaande diagramme te illustreer en te vergelyk met dié van 'n ekspansionistiese
monetére beleid (6)

2:1S-EMimodel: Expa ﬁé.onaﬁfméﬁ”étary»ﬁ‘%z

ﬁthmenm-m »xlg:,,,*i%*‘“ﬁ e &?,s%ﬂ‘l’u’ni! g abemganne on B o 0B

LRI

!“ Ea%sls ‘LMimodel: Contractionary“fié%ﬁlzzgiﬁéeﬁw i(b)a

nm HT

2 fEree T X BT
iy Dhcyﬁ,m e ?*%ﬁr'f‘,m i ﬁfﬁvwm i @%ﬁ%“ policy=ia B Wil st e e
B i 197 %sﬁ&% zgj @;’Z&@’P é”‘ % ?S‘i ’i% TahE ) e m-s-s“ﬁ.ggwmgu S | e e, ety
s B L LR %% S “%ﬂagf Al el mmg&gwﬂw, B LG ,W *%"ﬁ% Ry 5 T
Pt ~"::£§m=§; Yy M ;:"g‘;;“wm = m *..“.."'».r ol e B m‘%% 1% w-zmﬁﬂ AR muzﬁv m:: 2.* hw 7 T e m@"m f-“ﬁ:fx ”"’ i X
i - : 2 .:mmj M eni
f ) LIS g’ff}x.‘?«ﬁ’gf!ﬁaep‘” e"dae“;%ﬁé!'%% 3 A ilc%ﬁsﬂm"de‘ EksPa‘é?J;?ﬂ's"es ?%%%wﬁgﬁ“

Gttt Spaa

Tiniibeleid ”‘iifiﬁfé“""‘m&%%@ SH Gl %fw:s:mm%i&m@ -%“‘fﬁ’é&"?amonetere’beleidﬁ,éﬁim?ﬁ%?@;ﬁml EaaaiTen

Comparnson/Vergelyking
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QUESTION 3/VRAAG 3 (13 marks/13 punte)

Question 3 1/\raag 3 1 (6 marks/6 punte)

ECS2602
10/11 2015

Using the following diagrams, indicate what happens to the level of output and income and

the trade balance f

(1)
(W)
(u1)

Exports increase

balance

Government spending increases
Compare the results in (1) and (1) above regarding the level of output and income and the trade

Clearly indicate the shifts of and/or movements along the curves on the diagrams

(6)

Gebruik die onderstaande diagramme om aan te toon wat sal gebeur met die produksie- en
nkomepeil en die handelsbalans indien

(1)
{m
()

Uitvoer styg

Owerheidsbesteding styg
Vergelyk die resultate in () en {n) hierbo met betrekking tot die produksie- en

inkomepell en die handelsbalans

Toon duidelk die verskuiwings en/of bewegings langs die krommes op die diagramme aan (6)
g«ﬁzsegxtgainc;eyse%fzw st iGovemment spending Increases: SrEN T
“Untvoer: glg‘fisngﬁ Bt ﬁ%ﬁﬁ: iOwerheidsbesteding, styc Sl

‘é;mgﬂ“"%ﬁm

Q"”é%as»mmﬁﬁw&mw B

P4

4

Explanation/Verduideliking
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Comparison/\ergelyking

[TURN OVER]
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Question 3.2/Vraag 3 2 (7 marks/7 punte)

11
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Draw a diagram of the IS-LM model for an open economy in the space below to indicate
what will happen to the nominal exchange rate If a contractionary monetary policy is applied
Explain the smpact of this poiicy on the financial market, the goods market, the exchange rate

and trade balance by using chain of events andfor words

Trek 'n diagram van die 1S-LM-model vir’'n oop ekonomie in die spasie hieronder om aan te
toon wat sal met die nominale wisselkoers gebeur indien n beperkende monetére beled
toegepas word Verduidelk die impak van hierdie beleid op die finansiele mark, die
goederemark, die wisselkoers en die handelsbalans deur gebruk te maak van gebeurtenis-

kettings en/of woorde

(7)

e - i
Tl e

5% e g&»ﬁuww R
TR HEei e

a‘:ii"’imz;; i B 2T e BT }};’ﬁ"z%‘%%gﬁ_&;xe
Tor.
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conomy %g;ps ?g?%
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Explanation/Verduidelking
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QUESTION 4/VRAAG 4 (11 marks/11 punte)
Question 4 1/Vraag 4 1 (5 marks/5 punte)

(@) ldentify the three factors that impact on the nommnal wage in the wage-setting
relationship {3)

(a) Identfiseer die drie faktore wat n uitwerking het op die nominale loon In die loonvas-
stelingsverwantskap (3)

(2)

(3)

(b} Briefly explain why it 1s not possible for labour to Increase the real wage through

nominal wage bargaining (2)

(b) Verdudelk kortliks waarom dit nie moonthik vir arbeid 1s om die reele loon te verhoog
deur nominale loonbedinging nie (2}
[TURN OVER]
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Question 4 2Vraag 4.2 (6 marks/6 punte)
Use the foliowing AS-AD model to answer the question below

Maak gebruik van die onderstaande AS-AD-model om die vraag hieronder te beantwoord

P
ASy

AS
Pa fmm-mXmmmmm e -
Py -
Py pemmmmmmrmmmnnens 0
ADy
H E AD
0 Y

Y Yy

Assuming that the nghtward shift of the AD curve from AD to AD, 1s caused by an increase in
government spending Explain the impact of this action on the goods market, the financial
market and the labour market in the medium tc long run (the movement from point b to ¢) (6)

Veronderstel die regswaartse verskuiwing van die AD-kromme van AD na AD, 1s deur n
toename in owerheidsbesteding veroorsaak Verduidelk die impak van die aksie op die
goederemark, die finansiele mark en die arbeidsmark op die medium tot lang termyn (die
beweging van punt b na punt ¢) (6)

Expianation/Verduideliking

[TURN OVER]
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SECTION B: COMPULSORY (50 marks)

THE ENGLISH VERSION OF THE MULTIPLE CHOICE QUESTIONS STARTS ON PAGE 18
THE AFRIKAANS VERSION OF THE MULTIPLE CHOICE QUESTIONS STARTS ON PAGE 27

INSTRUCTIONS

In this section ALL guestions must be answered on the mark reading sheet which 15 supplied
Carefully follow the instructions for the completion of a mark reading sheet.

() Suppose a question reads as follows
An increase n the level of production
decreases the level of iIncome in the economy
has no impact on the level of Income in the economy

increases the level of Income in the economy
causes firms to employ less factors of production

WM =

The correct answer is 3 You must therefore mark 3 on your mark reading sheet

{n) Only one of the alternatives per question — listed as 1, 2, etc — is correct You must therefore
not mark more than one alternative per question

(in) For a correct answer you recewe 2% marks No marks are deducted for incorrect answers

(v) Sechion B consists of 20 questions and thus counts 50 marks out of the total of 100

S

s vh 2 & “‘ ; -‘-!:W- ib ?« ”‘M"Uix H e
A »ﬁg&g‘*‘ R R A S i R
fg;;‘m i mar ’"readmg s eatawmaygﬁetglost ougﬂIU§1:gth§§|;gfore§als j‘a iawourvzanswerszg %mlsg
‘sectio im%;g}a &;“2 f% gwm" am}n%ﬂ ‘mn wer.boo mg; or, example ifg;m; §(3),‘3€1},§etcm a&:gfsgﬁ‘;*%ﬁ%
i ! mqws Sy s z 9 it A “;& s 2oy
e r e e %ﬁ%@gﬁ%ﬁﬁs e ﬁﬁm‘?ﬁ%ww o Hee
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AFDELING B VERPLIGTEND (50 punte)

DIE AFRIKAANSE MEERKEUSEVRAE BEGIN OP BLADSY 27

INSTRUKSIES

In hierdie afdeling moet AL die vrae op die merkleesblad wat voorsien 1s, beantwoord word Volg die
instruksies vir die voltoonng van 'n merkleesblad sorgvuldig

(i)  Veronderstei n vraag lees socs volg
n Styging in die produksiepeil
verminder die inkomepell In die ekonomie
het geen inviced op die Inkomepeil In die ekonomie

verhoog dig inkomepet in die ekanomie
veroorsaak dat firmas minder produksiefaktore in diens neem

B WMN

Die korrekte antwoord 1s 3 U moet dus 3 op u merkleesblad merk

() Slegs een van die alternatiewe per vraag, gelys as 1, 2, ens 1s Korrek U moet dus nie meer as
een alternatief per vraag merk nie

{my Vir 'n korrekte antwoord ontvang u 2% punte Geen punte word vir verkeerde antwoorde
afgetrek nie

{iv) Afdeling B bestaan uit 20 vrae en tel dus 50 punte uit die totaal van 100

B b R PR S S G i h e T RS (T PR A e n T
A e gl g giﬁwﬁ,& IER ;& L St SR R
i fmerkleesblad%mag wegraak* U MOEI«dus ookiu:an oorde op*hrerdlexafdelmg op bladsy,35
Ly r;if» Eans § o et s g o B é i3 b 1 5’5 iy “%i“ Fr ey ”51435 il
Ly eksamenantwoordboek neerskryf yv orbe eld 1(4); 2(3),3@53(1),,ens Lot 1 T e et
e W*ﬁr‘g‘ 1ok %@5 e o bl ;&:wyﬁﬁ?‘w% | 53 m‘mf T e aF ,,f;s'zfﬁw A TR
H T A A R R T s e R At E e
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SECTION B COMPULSORY {50 marks)

e R e e e e
‘The; unlquemnumberﬁforﬁECS2me25ss‘49879 8i’:

e % eatl) d-m Ry, R
? e o !gégjgz %’f;ﬁéﬁ;&gs@ﬁﬁgi ;@w%%ﬁ* g*é}&égg;} ?ﬂ;@w e () ri”rgﬁfu

s |
e sk S

TS
y‘#’»lﬁ(@%% g

1 Which of the following statements with regards to the consumption function C = ¢; + cYp are

correct?

a A change In the margmnal propensity to cansume will result in a change in consumption
b A change in income will change the marginal propensity to consume
c A change in consumption will cause a change In disposable income
d ¢y and ¢ are the exogenous variables in the consumption function

e Y5 1s the endogenous varnable in the consumption function

1 Onlya, dand e

2 Onlyb, dande

3 Oniya, b, dande

4 Onlyaandd

5 abcdande

Question 2 1s based on the following information regarding a goods market model for a closed
economy with a government sector

c = 06
Cp = 400
] = 300
G = 300
T = 100
2 The multipher 1s equal to ____ and the equilibnium level of output and income s equalto ____
1 6 5 640
2 25 2500
3 4 3 840
4 B 5 400
5 25 2 350

3 The impact on the equiibnum interest rate of an increase n income with simultanecus
expansionary open market operafions by the central bank Is

1 a lower equilibrium interest rate
2 a hugher equilibnum interest rate
3 uncertain (the equilibrium interest rate can be higher, lower or the same)

[TURN OVER]
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Question 4 I1s based on the following diagram

a

b

bW =

M

Which of the following statements is/are correct?

If the central bank wishes to increase the interest rate in the economy it sells bonds on the
open market and the M* curve shifts to the left

If the central bank wishes to increase the interest rate in the economy It buys bonds on the
open market and the M® curve shifts to the left

The demand for money function (or M? curve) will shift because of changes n the interest
rate and there will be a movement along the curve because of changes in Income

The demand for money function (or MY curve) will shift because of changes i Income and
there will be a movement aleng the curve because of changes in the interest rate

aandc
aandd
bande
bandd
Only a

[TURN OVER]
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if the financial market 1s in a iquichty trap

b WM -

monetary policy 18 Ineffective in bnnging about a decrease in the nterest rate

financial money market paricipants are willing to hold less money at the same interest
rate

a decrease n the interest rate can be brought about by buying of bonds by the central
bank

there 1s a high demand for bonds

Only a
Cnly c
aandc
a,bandd
b,candd

Which of the following statements is/are correct?

a

b

g b W R =

To derive the {S curve, we change the level of output and income to determine the effect
oh the interest rate

To derive the IS curve, we change the interest rate to determine the effect on the demand
for goods

To derive the LM curve, we change the level of output and income to determine the effect
on the interest rate

To denve the AD curve, we change the price level to determine the effect on the level of
output and income

Only a
Onlyc
aandc
a,bandd
b, candd

[TURN OVER]
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Question 7 15 based on the following diagram

PR -

1

2

i

IS¢

Which one of the following statements 1s correct?

Goods market equiltbrium exists only at points a and b

At point ¢ the level of autonomous spending 1s lower than at point a
At point ¢ the level of autonomous spending 1s the same as at point a
At point a the demand for goods 1s lower than at pont b

Which one of the following statements 1s INCORRECT?

The steepness of the IS curve depends on the interest sensitivity of investment spending
and the output and income sensitivity of nvestment spending

The size of the multiplier and the income sensitivity of the demand for money are factors
that will have an impact on the effectiveness of fiscal policy

A relatvely more nelastic IS curve indicates a greater interest sensitivity of investment
spending

“Crowding out” of investment spending will occur If the output and income sensitivity of
investment spending 1s low and the interest sensitivity of investment spending 1s high

[FURN OVER]
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Study the following LM curve and answer question 9 that follows

10

11

LM,

Which of the following statements 1s/are correct?

a At point a the demand for money 1s hugher than at point b
At point ¢ the money supply 1s higher than at point a
At point a, paint b and paint ¢ the financial market is 1n equilbrium

2 BRe

a,bandc
Only a

Only b

Only ¢
Onlyaandc

bW =

Which one of the following policy acticns in the IS-LM model 1s appropnate if the objectives are
to decrease the budget deficit and decrease the interest rate?

An expansionary fiscal policy and an expansionary monetary policy
An expansionary fiscal policy and a contractionary monetary policy
A contractionary fiscal policy and an expansionary monetary policy
An expansionary fiscal policy and a contractionary fiscal policy

it 18 not possible te achieve the policy objectives

s Wk -

Which one the following statements 1s correct?
The exogenous vanables in the 1S-LM model are

government spending and investment spending
investment spending and money supply
interest rate and government spending
government spending and money supply

level of output and income and the interest rate

b WM -

[TURN OVER]
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From the perspective of South Africa, an increase (appreciation} in the nominal exchange rate
will cause the following to happen

The Rand becomes less expensive to foreigners
Foreign goods are more expensive to South Afnicans
Foreign currency 1s more expensive to South Africans
South African goods are more expensive to foreigners
Imports are more expensive

(&) BN DN JV R S

Given the following information

Interest rate on RSA bonds 6%
Interest rate on USA bonds 9%

Which one of the following statements 1s correct?

1 If it 15 expected that the R/$ exchange rate will be unchanged in a year's time,
financial market participants will be indifferent between RSA and USA bonds

2 If the expected appreciation of the rand i1s 2% In a year's time, investment In RSA
bonds are more attractive and financiai market participants will buy RSA bonds

3 If the expected appreciation of the rand 1s 4% In a year's time, investment in RSA
bonds are more attractive and financial market participants will buy RSA bonds

4 If the expected depreciation of the rand 1s 3% in a year's time, investment in RSA
bonds are more attractive and financial market participants will buy RSA bonds

In an open economy the impact of an increase in the interest rate on the demand for goods and
the level of output and income Iin the goods market can be ilustrated by the following chain of
evenis

1 it - E|l — X1 — NX|
2 It— Et— X\ - 2] > Y}
3 E|l— XT— NXt— Z1—= Y1
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Question 15 1s hased on the following information Country ABC 1s facing a recession and an
unacceptable budget deficit To deal with the budget deficit taxes are raised and to deal with the
recession the money supply is increased

15 Which of the following statements isfare correct?

a
b
c

b G b —

The IS curve will shift to the nght and the LM curve will shift downwards

The IS curve will shift to the left and the LM curve will shift downwards

The results of these policy actions are that the interest rate increases, a capital nflow
occurs, the domestic currency appreciates and the trade balance worsens

The results of these policy actions are that the interest rate declines, a capital outflow
oceurs, the domestic currency depreciates and the trade balance improves

aandd
bandd
aandc
bandc
Only b

16 Which of the following statements i1s/are correct?

According to the price-setting relation a(n)

a0 oo

G WN =

decrease in the unemployment rate, will increase nominal wage demands
decrease In the markup of firms, given the nominal wage, will decrease the price per unit
decrease in the nominal wage, given the markup of firms, will increase the pnice per untt
increase In the unempleyment rate, will decrease nominal wage demands

a bandc

a, bandd
Onlybandd
Only a

Only b

17 Which of the following statements i1s/are correct?

The natural rate of unemployment

a
b
c

B LN -

Increases If there 1s an increase n the bargaining positien of workers

increases If there 1s a decrease In the markup

decreases If there 15 an improvement in the protection of workers through labour
legislation

Increases If the unemployment rate increases

aandd

b, ¢cand d
Only cand d
Only a

Only b
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Question 18 1s based on the following dragram

18

19

20

I3

Lo T e

L

Py

Which one of the following statements 1s INCORRECT?

At point ¢ the actual price level 1s lower than the expected price level

At pomt b the cutput levet 1s higher than the natural level of output

At point b the real wage 1s the higher compared to point a

As the level of output increases the price level rises

The AS curve will shift upwards when the expected price level increases

N wWwh =

The chain of events P — (M/P)| — 1t — || — Z| — Y] represents the

IS relation in the open economy

effect of a monetary expansion in the AS-AD model
derivation of the AD curve

effect of an expansionary fiscal policy in the AS-AD model
LM relation in the open economy

AW =

The neutrality of money refers to the impact of a policy which means that
only varnables changes in the AS-AD model In the medium to long run

1 contractionary monetary nominal
2 contractionary monetary real
3 expansionary monetary nomemal
4 expansionary monetary rea
5 expansionary fiscal nomnal
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The following two questions are for information purposes and does not count any marks We

will appreciate 1t if you answer the questions

21 Did you make use of the CDROM for this module?

I did not receive it

I was not able to use it
| chd not use 1t at all

| did not use It much

1 used it extensively

[S) IR SVIN N

22 Did you make use of the video clips on myUnisa for this module?
| was not able 1o access it

| did not use It at all

| did not use It much

| used it extensively

EES OV IS B
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i Younmark-rea -Sheet can; get, Ios “Lnd you mustﬁtherefore:also. down:yoursys
-ﬁg‘”'f""" “{'ﬁﬁa 2 20 SRR AT AT L, Ty L L B T max-sﬁsﬂ‘m e wagm.u *5.4 s ety
”ﬂﬁ i;%ﬁ}é%;‘ﬁ &*gpgw%s for, Sect p P“l '%the s?maxge pggg-deg be!& ;;’%.é zwzm el
e .,'.1. T 5 A b g S 0 55
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1 17

2 10 18

3 11 19

4 12 20

5 13 21

6 14 22

7 15

8 16

[TURN OVER]
[BLAAI OM]




27 ECS2602
10/11 2015

AFDELING B VERPLIGTEND (50 punte)
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Xid

1 Watter van die volgende stellings met betrekking tot die verbruiksfunksie C = ¢; + ¢Yp 18 korrek?

a

° Q0o

B WN =

n Verandering in die grensverbrulksgeneigdheid sal aanleiding gee tot 'n verandernng in
verbrutk

'n Verandering in inkome sal die grensverbrutksgeneigdheid verander

'n Verandering in verbruik sal 'n verandering in besteebare inkome veroorsaak

Co en ¢ 1s die eksogene veranderlikes in die verbruiksfunksie

Yo 1s die endogene veranderlike in die verbrutksfunksie

Slegsa, dene
Slegs b, dene
Slegsa, b, dene
Slegs aend

a b cdene

Vraag 2 berus op die volgende inligting met betrekking tot die goederemarkmode! wir 'n geslcte
ekonomie met 'n owerheidsektor

o]
Co
!
G
T

06
400
300
300
100

mn i nn

2 Die vermerigvuldiger 1s gelyk aan __ en die ewewigsproduksie- en -inkomepell is gelyk aan __

bWk

6 5640
25 2500
4 3 840
5] 5400
25 2 350

3 Die impak op die ewewigsrentekoers van n toename in inkome met gelyktydige ekspansio-
nistrese opemarkbedrywighede deur die sentrale bank is

W N -

n laer ewewigsrentekoers
n hoer ewewigsrentekoers
onseker (die ewewigsrentekoers kan hoer, laer of dieselfde wees)
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Vraag 4 berus op die onderstaande diagram

1

%]

M

4 Watter van die volgende stellings 1s korrek?

L&) I - N VRN L BEe

Indien die sentrale bank die rentekoers in die ekonomie wil verhoog, moet effekte op die
ope mark verkoop word en die M®-kramme verskuif na links

Indien die sentrale bank die rentekoers In die ekonomie wil verhoog, moet effekte op die
ope mark aangekoop word en die M-kromme verskuif na links

Die geldvraagfunksie (of Mkromme) sal verskuf as gevolg van veranderinge n die
rentekoers en daar sal n beweging langs die kromme plaasvind as gevolg van
veranderinge in inkome

Die geldvraagfunksie (of M%-kromme) sal verskuif as gevolg van verandennge In die
inkome en daar sal n beweging iangs die kromme plaasvind as gevelg van verandernnge in
die rentekoers

aenc
aend
benc
bend
Slegs a
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Indien die finansiele mark in ’'n hkiditeitslokval 1s,

o

b wWwhN =

is monetére beleid oneffektief om 'n daling in die rentekoers teweeg te bring

18 finansiele markdeelnemers bereid om minder geid teen dieselfde rentekoers te hou

kan 'n daling in die rentekoers teweeggebring word deur die aankoop van effekte deur die
sentrale bank

1s daar 'n hoe vraag na effekte

Slegs a
Slegs ¢
aenc

a, bend
b,cend

Watter van die volgende stellings 1s korrek?

a

b

b whN =

Om die IS-kromme af te lel, verander ons die produksie- en inkomepetl om die effek op die
rentekoers te bepaal

Om die 1S-kromme af te lel, verander ons die rentekoers om die effek op die vraag na
goedere te bepaal

Om die LM-kromme af te le, verander ons die produksie- en inkomepell om die effek op
die rentekoers te bepaal

Om die AD-kromme af te lei, verander ons die pryspeil om die effek op die produksie- en
inkomepeil te bepaal

Slegs a
Slegs ¢
aenc
a,bend
b,cend
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Vraag 7 berus op die volgende diagram

{

1S54

7 Watter een van die volgende stellings 1s korrek?

Goederemarkewew!g bestaan slegs by punteaenb

By punt ¢ 1s die pell van outonome besteding laer as by punt a

By punt ¢ 1s die pell van outonome besteding dieselfde as by punt a
By punt a I1s die vraag na goedere laer as by punt b

WM -

8 Waltter een van die volgende stelling 1s VERKEERD?

1 Die helling van die IS-kromme hang af van die rentesensitiwitert van investenngsbesteding
en die produksie- en inkemesensitwiteit van investeringsbesteding

2 Die grootte van die vermenigvuldiger en die inkomesensitiwiteit van die vraag na geld I1s
faktore wat 'n impak op die effektiwitert van fiskale beleid uitoefen

3 'n Relatief meer onelastiese |S-kromme toon 'n groter rentesensitiwiteit van investerings-
besteding

4 Verdrninging (“Crowding out’) van investeringsbesteding sal voorkom indien die produksie-
en Inkomesensitiwiteit van investeringsbesteding laag 1s en die rentesensitiwiteit van
investernngsbesteding hoog I1s
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[BLAAI OM]



31 ECS2602
10/11 2015

Bestudeer die onderstaande LM-kromme en beantwoord vraag 8 wat volg

10

11

LM,

o Y

Watter van die volgende stellings 1s korrek?

O oL

[S2 I N 3% 3 % B

By punt a in die vraag na geld hoer as by punt b
By punt ¢ 1s die geldvoorraad hoer as by punt a
By punt a, punt b en punt ¢ 1s die finansiele mark in ewewig

a,benc
Slegs a
Slegs b
Slegs ¢
Slegsaenc

Watter een van die volgende beleidsaksies in die 1S-LM-model is toepaslk indien die doelwitte 1s
om die begrotingstekort te verminder en om die rentekoers te laat daal?

bW -

n Ekspansionistiese fiskale belexd en 'n ekspansionistiese manetére beled
n Ekspansionistiese fiskale beleid en 'n beperkende monetére beled

h Beperkende fiskale beleid en 'n ekspansionistiese monetére beleid

n Ekspansionistiese fiskale beleid en 'n beperkende fiskale beleid

Dit 1s nie moontlik om die beleidsdoelwitte te bereik nie

Watter een van die volgende stellings 1s korrek?

Die eksogene veranderlikes in die |1S-LM-model 1s

L6 B U OV I8\ R

owerheldsbesteding en investeringsbesteding
Investeringsbesteding en die geldvoorraad
die rentekoers en owerheidsbesteding
owerheidsbesteding en die geldvoorraad
produksie- en inkomepell en die rentekoers
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Vanuit die perspektief van Suid-Afrika gesien, sal 'n styging (appresiasie) van die nominale
wisselkoers die volgende laat gebeur

Die Rand word goedkoper vir buitelanders
Buitelandse goedere 1s duurder vir Suid-Afrikaners
Buitelandse geldeenheid 1s duurder vir Suid-Afrikaners
Surd-Afrikaanse goedere 1s duurder vir buitelanders
irvoer 1s duurder

[ NN S R

Gegewe die volgende inligting

Rentekoers op RSA-effekte 6%
Rentekoers op VSA-effekte 9%

Watter een van die volgende stellings is korrek?

1 Indien dit verwag word dat die R/$ wisselkoers onveranderd sal bly in die gegewe jaar, sal
finansiele markdeelnemers cnsydig staan ten opsigte van RSA- en VSA- effekte
2 Indien die verwagte appresiasie van die rand 2% in 'n gegewe jaar Is, Is belegging in RSA.-

effekte aantrekiker en sal finansiele markdeelnemers RSA- effekte koop

3 Indien die verwagte appresiasie van die rand 4% in 'n gegewe jaar 1s, 1s belegging in RSA-
effekte aantrekliker en sal finansiele markdeelnemers RSA- effekte koop

4 Indien die verwagte depresiasie van die rand 3% Iin 'n gegewe jaar 1s, is belegging in RSA-
effekte aantrekliker en sal finansiele markdeeinemers RSA- effekte koop

In‘n oop ekonomie kan die iImpak van 'n styging in die rentekoers op die vraag na goedere en die

produksie- en inkomepell in die goederamark deur die volgende gebeurtenisketting geillustreer
werd

It — E| — X1t — NX|

T— El— X| = 2| > Y]
EL - XT— NXt = Z1 - ¥t
T— - Z| - Y| = NX]|

N

[TURN OVER]
[BLAAI OM]



33 ECS2602
10/11 2015

Vraag 15 berus op die volgende iniigting Land ABC het te doen met n resessie en 'h onaanvaarbare
begrotingstekort Om die begrotingstekort aan te spreek, word belastings verhoog en om die resesste
aan te spreek word die geldvoorraad verhoog

15 Watter van die volgende stellings 1s korrek?

a
b
c

[S2 I LN S\ B

Die IS-kromme sal na regs verskuif en die LM-kromme sal afwaarts verskurf

Die IS-kromme sal na links verskuif en die LM-kromme sal afwaarts verskuif

Die resultate van die beleidsaksies is dat die rentekoers styg, n kapitaalinvioel ontstaan,
die binnelandse geldesnheid appresieer en die handelsbalans verswak

Die resultate van die beleidsaksies 1s dat die rentekoers daal, 'n kapitaalutvloel ontstaan,
die binnelandse geldeenheid depresieer en die handelsbalans verbeter

aend
bend
aenc
benc
Slegs b

16 Watter van die volgende stellings 1s korrek?

Ooreenkomstig die prysvasstellingsverwantskap, sal 'n

a
b

Ok N

daling n die werkloosheidskoers, die nominale looneise verhoog

afname in die prystoeslag van firmas, gegewe die nominale loon, die prys per eenheld laat
afneem

afname In die nominale loon, gegewe die prystoeslag van firmas, die prys per eenhexd laat
toeneem

styging in die werkloosheidskoers, die nominale leoneise verlaag

a benc
abend
Slegsbend
Slegs a
Slegs b

17  Watter van die volgende stellings i1s korrek?

Die natuurhke werkloosheidkoers

a
b
c

[=1

[ R LN L 8 B

styg indien daar 'n versterking in die bedingingsposisie van die werkers is

styg indien daar 'n daiing in die prysteeslag i1s

daal indien daar n verbetenng in die beskerming van die werkers deur arberdswetgewing
1S

styg indien die werkioosheidskoers styg

aend

b, cend
Siegscend
Slegs a
Slegs b
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Vraag 18 berus op die onderstaande diagram

18

19

20

F=3

Py

Pz

P

Watter een van die volgende stellings in VERKEERD?

LS - IV I (P

Die gebeurtemisketting PT — (M/P}, — 11 — 1| — Z| — Y| verteenwoardig die

[S 20 SN SV I LN

Die neutralteit van geld verwys na die impak van 'n

By punt ¢ 15 die werklike pryspell laer as die verwagte pryspeil

By punt b 1s die produksiepell hoer as die natuurhke produksiepeil

By punt b 1s die reele loon hoer vergeleke met punt a

Soos die produksiepell toeneem, neem die pryspel toe

Die AS-kromme verskuif opwaarts wanneer die verwadte pryspeil toeneem

IS-verwantskap in 'n oop ekonomie
effelc van 'n monetére utbreiding in die AS-AD-model

afleiding van die AD-kromme

effek van 'n ekspansiorustiese fiskale beleid in die AS-AD-model
LM-verwantskap in 'n oop ekonomie

ECS2602
10/11 2015

beleid wat beteken dat slegs

die veranderhkes in die AS-AD-model in die medium tot langtermyn verander
1 beperkende monetére nominale

2 beperkende monetére reele

3 ekspansionistiese monetére nominale

4 ekspansionistiese monetére reele

5 ekspansionistiese fiskale nominale
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Die volgende twee vrae 1s vir inligtingdoeleindes en tel geen punte nie  Ons sal dit waardeer indien u
dit beantwoord

21 Het uvan die COROM vir hierdie module gebruik gemaak?

Ek het dit nie ontvang nie

Ek was me in staat om dit te gebruik me
Ek het ait glad me gebruk nie

Ek het dit nie veel gebruik nie

Ek het dit baie gebruk

b Wh =

22  Het uvan de video-grepe op myUnisa vir hierdie module gebruik gemaak?

Ek was nie In staat om toegang tot dit te verkry nie

1
2 Ek het dit glad nie gebruik nie
3 Ek het dit nie veel gebruik nie
4 Ek het dit baie gebruik
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5 13 21
6 14 22
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